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ORD Hvn" - K4 Gl JIERE ODR Fvn = K4 R FLEk k=
112 Sk mf 1 EAl-d 1 14 11 K WEBF 3 Bl 9 05 42
2 42 7EEE VEKR 3 RA 4 2 7 161 &b E&fE 2 EFIBET 9 19 7 92
3191 Al Ak 3 RAHE 3 03 191 Al Mk 3 RAHEF 9 . 47 43
4 192 JINE ki 3 @FHEd 4 9 311 KA A 3 S 9 - 547 09
5 312 Al KHE 2 gt 5 5 312 I KHE 2 ki 9 - 55 ~ 83
6 281 ER % 3 EEA 6 11 41  &H & 3 EF_H 9 . 56 7 97
7 161 Ak EE 2 EAPES 74 192 JIB KEE 3 gFlded 10 0 18 ” 18
8 72 /AW FEG 2 A= 8 10 251 #AJE AW 3 Ao 10 - 19 ~ 46
9 311 KA %M 3 9 6 281 KR f8742 3 ®HEAET 100 23 7 48
10 251 #HYAJE #HE 3 BAn 10 13 162 @M WiZE 3 EFIEH 10 - 24 7 58
11 41  &W & 3 BEF_f 11 16 282 EWJI 4 3 BEH 10 - 33 ” 83
12 71 #hly A 2 BRI = 12 15 252 ¥ = 3 @Auf 10 - 37 ” 63
13 162 FEMH W& 3 R 13 2 42 PRk K 3 BRI 10 0 40 7 82
14 11  /Bk meZk 3 Rfl—p 4 1 12 =K @M 1 BF-—# 10 52~ 6l
15 252 fE = 3 W 15 12 71l 4 2 EF=F 10 52 ” 63
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173 I EBA 2 BRI 1 2 14 Em KAk 3 BAh 10 12 30
2 14 JEH HmK 3 M- 2 4 13 WA fEE 3 BEFl—f 10 16 ~ 61
3 313 sk P 3 B 3 11 164 R e 2 EFIFEF 10 - 21 ~ 63
4 13 Wi mE 3 @F—f 4 7 193 R ®E 3 EAded 10 0 21 7 85
5 194 ZE wE 2 BRlHed 5 5 194 ZEpE g 2 BEAHEth 10 - 24 7 38
6 163 IRA B 3 AT 6 9 44 ik FEK 2 BRI ZH 10 0 24 ~ 92
7193 HE PEE 3 RAHEd 7 15 253 VEAT EiAE 3 AP 10 0 27 7 96
8 283 MR KE 2 EEA 8 8 283 IR FE 2 FHEEH 100 31 7 43
9 44 wik FIK 2 @A 9 3 313 /MK L 3 HdEH 10 0 39 7 35
10 284 fEH Fik 1 BEG 10 6 163 #RA B3k 3 EFIVET 10 - 42 7 29
11 164 R B 2 &R 11 13 254 &9 & 3 tfak 10 . 47 7 93
12 74 JIHE P 2 &R = 12 16 314 #El AL 3 HPEH 10 - 50 ~ 52
13 2564 HE g 3 WA 13 14 43 HAS BEK 3 EFI ' 10 - 56 ” 65
14 43 HAJFE BRK 3 A 14 1 73 JnFF EBmA 2 BEFI="F 11 17 7 91
15 253  paff Hids 3 fpAnd 15 10 284 W fik 1 EEG 11 - 22 7 16
16 314 HEIL JAL 3 KEH 16 12 74 JIHE S 2 EF =+ 12 39 ” 91
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1255 Lt KR 1 Bpfadh 1 2 196 @M seA 3 JEFLtR 10 00 16
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3 316 Al MREL 3 B 3 7 46 AR W3 BEFITH 10 21 7 74
4 45 HfE 4L 3 RAI A 4 6 195 B SkEE 2 EFdEd 10 - 26 7 21
5 15 HEAR ¥ 1 RH-—4 5 1 255 it KB 1 BpAath 10 - 29 7 76
6 195 rhEF OfE 2 EFdLd 6 5 15 AEA EE 1 EFl— 10 . 40 ~ 29
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8 285 M MAE 3 EEA 8 3 315 A HABL 3 HPEH 10 - 47 ” 32
9 165 KEF FEKER 1 J@FIpH 9 11 16 KJI ZER 1 RH—H 10 - 56 7 56
10 75 AgHh HAE 3 RERI=rf 10 12 166 Z5fE BOK 2 EFIFEH 11 11 7 00
11 16 KRJII ZEf 1 @f]—r 11 8 285 &M #Mi4E 3 BEG 11 11 7 91
12 166 5 BOK 2 R H 12 10 75 ZgHh F=AE 3 BRI =d 110 12 7 22
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1291 Ll A 3 EBEA 13 261 JEE Kkt 3 HFR 10 38 20
2 203 M M 3 AR 2 14 202 HAR SuARH 3 @FEkd 10 0 41 7 27
3 261 g ki 3 HpFad 3 5 201 PHMR #EF 2 AL 10 0 45 ~ 33
4 22 g AR 1 @A 4 13 263 R K& 2 WmAut 10 - 46 7 87
5 201 PEMR HEY 2 BAHEd 5 7 53 Bl gk 1 BRI TH 10 - 48 7 52
6 292 RN BF 2 FEFEA 6 12 322 {HAK &A1 BPEH 11 0 01 ” 40
7 53 B BESF 1 BRI 7 2 203 fRiE B 3 EFHEd 11 05~ 27
8 321 /MR BiME 2 HEH 8 15 51 HA FikEA 3 EF_H 11 - 05 ” 65
9 262 AP w7 3 ik 9 17 21 =y M 1 EF—P 11 06 ~ 54
10 52 FAR f&f4 2 FEF| 10 11 172 HJII —#E 2 WS 11 - 07 ” 64
11 172 FJII —# 2 EFyES 11 10 52 AR &% 2 &EF—H 11 . 12 7 22
12 322 K &% 1 WP 12 4 22 iRk WK 1 EF—F 11 12 7 70
13 263 M K& 2 WA 13 9 262 HE 72 3 Ak 11 . 22 ~ 45
14 202 HFA JuKH 3 RAHEd 14 16 171 #498 Bhay 2 ERpET 110 27 ~ 42
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